Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 4 - North Berwick Coastal

6,270

3

1,568

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Jeremy FINDLAY	Scottish Conservative and Unionist	1,703
Laura Lowe FORREST	Scottish National Party (SNP)	1,127
Jim GOODFELLOW	Scottish Labour Party	1,488
Jane HENDERSON	Scottish Conservative and Unionist	1,341
Robert James O'RIORDAN	Scottish Liberal Democrats	318
Eurig SCANDRETT	Scottish Green Party	293
	Total	6,270

Candidate Jeremy FINDLAY Elected with 1,703 votes, being in excess of the quota of 1,568

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Jeremy FINDLAY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jeremy FINDLAY	0	0.00000	0.00000
Transfer to Laura Lowe FORREST	24	0.07927	1.90248
Transfer to Jim GOODFELLOW	120	0.07927	9.51240
Transfer to Jane HENDERSON	1,422	0.07927	112.72194
Transfer to Robert James O'RIORDAN	59	0.07927	4.67693
Transfer to Eurig SCANDRETT	10	0.07927	0.79270
Value of non-transferable ballot papers			5.39355
	Total		135.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Eurig SCANDRETT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jeremy FINDLAY	0	0.00000	0.00000
Transfer to Laura Lowe FORREST	104	1.00000	104.00000
Transfer to Jim GOODFELLOW	2	0.07927	0.15854
Transfer to Jim GOODFELLOW	75	1.00000	75.00000
Transfer to Jane HENDERSON	5	0.07927	0.39635
Transfer to Jane HENDERSON	20	1.00000	20.00000
Transfer to Robert James O'RIORDAN	2	0.07927	0.15854
Transfer to Robert James O'RIORDAN	65	1.00000	65.00000
Value of non-transferable ballot papers			29.07927
	Total		293.79270

Transfers Report

This report contains the transfers results.

Stage 4 - Surplus of Jim GOODFELLOW

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jeremy FINDLAY	0	0.00000	0.00000
Transfer to Laura Lowe FORREST	11	0.00023	0.00253
Transfer to Laura Lowe FORREST	292	0.00297	0.86724
Transfer to Jim GOODFELLOW	0	0.00000	0.00000
Transfer to Jane HENDERSON	66	0.00023	0.01518
Transfer to Jane HENDERSON	347	0.00297	1.03059
Transfer to Robert James O'RIORDAN	17	0.00023	0.00391
Transfer to Robert James O'RIORDAN	551	0.00297	1.63647
Transfer to Eurig SCANDRETT	0	0.00000	0.00000
Value of non-transferable ballot papers			1.11502
	Total		4.67094

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Robert James O'RIORDAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jeremy FINDLAY	0	0.00000	0.00000
Transfer to Laura Lowe FORREST	88	0.00297	0.26136
Transfer to Laura Lowe FORREST	101	1.00000	101.00000
Transfer to Jim GOODFELLOW	0	0.00000	0.00000
Transfer to Jane HENDERSON	2	0.00023	0.00046
Transfer to Jane HENDERSON	116	0.00297	0.34452
Transfer to Jane HENDERSON	33	0.07927	2.61591
Transfer to Jane HENDERSON	111	1.00000	111.00000
Transfer to Eurig SCANDRETT	0	0.00000	0.00000
Value of non-transferable ballot papers			174.25360
	Total		389.47585